Note on the criterion that two samples are samples or the
same Population.-—By P. C. MaHatANOBIS.

1. The classical method consists in comparing the Mean values
m and m’, of the two samples, and finding the probablity of the differ-
ence m-m’ (as measured in terms of its probable error). This method
neglects altogether any difference in the general nature of the two
distribution of frequencies.

2. Pearson’s Coefficient of Contingency. The two samples are cormn-
pared group by group, and their independence is measured by the
probability (P) of x2, a certain defined function of the two series of
frequency groups.
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3. In the first part of the present paper, thu above two methods
are compared, with special reference to anthropological data. It is shown
that the second method ( contingency coefficient ) is the more appropriate
mothod for the purposes of co.nparing different samples.

. 4. It is noted, however, that two difficulties arise in applying
formula (A) to the case of small samples. |

{i) The values of n and »’, the group frequencies, depend to a
considerable extent on the systema of grouping adopted.
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